
SAP ABAP table VVSCPOS {Bill Scheduling: Scheduling Item}

VVSCPOS

MANDT [CLNT (3)]

GPART [CHAR (10)]

VTREF [CHAR (20)]

POSNR [CHAR (12)]

SCPOSNR [CHAR (14)]

GSBER [CHAR (4)]

OPGSBER [CHAR (4)]

PRGRP [CHAR (2)]

VSARL_VX [CHAR (6)]

INSTAXS [CHAR (4)]

CURR [CUKY (5)]

HVORG [CHAR (4)]

TVORG [CHAR (4)]

OPHVORG [CHAR (4)]

OPTVORG [CHAR (4)]

BLART [CHAR (2)]

KOSTL [CHAR (10)]

MWSKZ [CHAR (2)]

QSSKZ [CHAR (2)]

STRKZ [CHAR (2)]

EMGPA [CHAR (10)]

FDGRP [CHAR (10)]

IKEY [CHAR (2)]

BUT000

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

 VVSCPOS-EMGPA = BUT000-PARTNER 
0..N

0..N

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 VVSCPOS-KOSTL = CSKS-KOSTL 
0..N

0..N

T007A

MANDT [CLNT (3)]

KALSM [CHAR (6)]

MWSKZ [CHAR (2)]

 VVSCPOS-MWSKZ = T007A-MWSKZ 
0..N

1

T035

MANDT [CLNT (3)]

GRUPP [CHAR (10)]

 VVSCPOS-FDGRP = T035-GRUPP 
0..N

0..N

T059Q

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

QSSKZ [CHAR (2)]

 VVSCPOS-QSSKZ = T059Q-QSSKZ 
0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VVSCPOS-CURR = TCURC-WAERS 
0..N

0..N

TFK003

MANDT [CLNT (3)]

APPLK [CHAR (1)]

BLART [CHAR (2)]

 VVSCPOS-BLART = TFK003-BLART 0..N

1

TFK007F

MANDT [CLNT (3)]

LAND [CHAR (3)]

STRKZ [CHAR (2)]
 VVSCPOS-STRKZ = TFK007F-STRKZ 0..N

0..N

TFK056A

MANDT [CLNT (3)]

IKEY [CHAR (2)]

 VVSCPOS-IKEY = TFK056A-IKEY 
0..N

0..N

TFKHVO

MANDT [CLNT (3)]

APPLK [CHAR (1)]

HVORG [CHAR (4)]

 VVSCPOS-HVORG = TFKHVO-HVORG 

0..N

1

 VVSCPOS-OPHVORG = TFKHVO-HVORG 

0..N

1

TFKTVO

MANDT [CLNT (3)]

APPLK [CHAR (1)]

HVORG [CHAR (4)]

TVORG [CHAR (4)]

 VVSCPOS-OPTVORG = TFKTVO-TVORG 

0..N

1

 VVSCPOS-TVORG = TFKTVO-TVORG 

0..N

1

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 VVSCPOS-GSBER = TGSB-GSBER 

0..N

{0,1}

 VVSCPOS-OPGSBER = TGSB-GSBER 

0..N

{0,1}

TKKV007A

MANDT [CLNT (3)]

INSTAXS [CHAR (4)]

COUNTRY [CHAR (3)]

 VVSCPOS-INSTAXS = TKKV007A-INSTAXS 

0..N

1

TKKVPRGRP

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

PRGRP [CHAR (2)]

 VVSCPOS-PRGRP = TKKVPRGRP-PRGRP 

0..N

1

TLXXVAL

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VSARL_VX [CHAR (6)]

 VVSCPOS-VSARL_VX = TLXXVAL-VSARL_VX 

0..N

{0,1}


